
CME 250 - Statics
Exam #1 (0813012023)

StarlD or TechlD (no names) 6to/|"f

Show vour work (you will not receive any credit if all you have is a final answer, right or wrong).

Do one of the two problems shown below'(the second problem is on the back).

1. Two forces are applied as shown below. Determine the angle 0 (0's 0 < 90') and the magnitude of the force F

so that the resultant force is directed along the positive y-axis and has a magnitude of 750 N.
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2. The 500 lb force shown below is to be resolved into two components, one acting along the axis defined by

member AB and the other acting along the axis defined by member AC. The component of the force acting along

the axis defined by member AC is 3OO lb and is in a direction from A to C. Determine the magnitude of the force

acting along the axis defined by member AB and determine the angle 0.
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